GENERAL SCIENCE MOST IMPORTANT QUESTIONS / SAMPLE PAPER - 9

Q1. Which part of the plant is used as 'saffron'?
UTel o foRd T ST ShEr o & H SR fora STraT 22
A. Petals /W@%’q}f
B. Stamens /EI;W
C. Style and Stigma / TTga 3R R
D. Sepals A"

The Saffron spice originates from a flower called crocus sativus—commonly known as the "saffron
crocus".

Stigma of the plant is used in making the saffron spices.

In making the saffron spice, stigma of the plant is used.

Stigma is the top of the centre part of a flower.

It takes about 1,000 flowers to produce just one ounce of saffron.

Onion has a modified form of stem called a bulb, or more specifically a tunic-ate bulb.

Sweet potato is a modified root, and potato is a modified stem.
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Petals

Q2. Chiropterophily means:

STQURTOT 7 37 2
A. Production of flowers /‘?l&_c'ﬁ EARSIIEL]
B. Pollination by wind / 9o ST GXFTOT
C. Pollination by bat / =HITIGS ST Y01
D. Production of leaves / TfIT ol JedTe

Chiropterophily is pollination of plants by bats. Bat pollination is most common in tropical and desert
areas that have many night-blooming plants.
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Just like bees and birds that pollinate, nectar-consuming bats have evolved ways to find and harvest the

sweet liquid.

STORTOT <TG ST Ut 3 TXEToT 2| STehiese TR Rt &1 H SwTas i TnTor Jerdl 31 & fores
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Q3. Who discovered X-rays ?
T i @I fora i oft?
A. Wilhelm Conrad Roentgen/ faee® &g TdeiH
B. Paul Villard / et forere
C. Sir Isaac Newton / §U TSI =4
D. None of these / 370 & IS &t

Wilhelm Conrad Rontgen, Rontgen also spelled Roentgen, physicist who was a recipient of the first

Nobel Prize for Physics, in 1901, for his discovery of X-rays, which heralded the age of modern
physics and revolutionized diagnostic medicine.

foreem e Tred, T 3 T 31 @I o fTT 1901 H sitfens fagmt tdesH i ot fora, st «fifoshr &
o Tt i ekt 36 STkt o, forer atyfen siifteht 3 2 oy syeeta o 3 etk fafehear & shifa
ard

Q4. Silver halides are used in photographic plates because they are

e TS T SEAHTE BTG Wiel § foRaT STTdT & RIifeh o gl
Oxidised in air/ &4 ¥ SATerefehRTor

Soluble in hyposolution / %13@@?{31?[ T RRENICE

Reduced by light / JhTST g &4 feraT 1T

Totally colourless / ‘{\U'f w9 9 ST

S owp
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Silver halides (AgCl, AgBr and Agl)

®  Silver halides are used in photography because they are photosensitive as they react with light to
form the image, silver halides being reduced to silver.

®  Silver halides, except for silver fluoride, are very insoluble in water.

®  Silver nitrate can be used to precipitate halides; this application is useful in quantitative analysis of
halides.

®  The three main silver halide compounds have distinctive colors that can be used to quickly identify

halide ions in a solution.
® The silver chloride compound forms a white precipitate.
® silver bromide a creamy colored precipitate

® silver iodide a yellow colored precipitate. They are also soluble in hypo solution.
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The Basic Structure Of Film

seder i
n bmde Silver halide crystals in suspension

Gelati

Q5. Curie point is the temperature at which
TR dTse 9 qr grar @ e w
A. Matter becomes radioactive / TaTef tfearerdT &1 Srar &
B. A metal loses magnetic properties / Teh €Tq ajﬁﬁﬁ o7 wraare
C. A metal loses conductivity / Teh €T =Tetshdl e
D. Transmutation of metal occurs. / 8Tq T afEd g 2
Curie point, also called Curie Temperature, temperature at which certain magnetic materials undergo a
sharp change in their magnetic properties.
In the case of rocks and minerals, remanent magnetism appears below the Curie point—about 570 °C
(1,060 °F) for the common magnetic mineral magnetite.
Marie won the 1911 Nobel Prize in Chemistry for her discovery of the elements polonium and radium,

using techniques she invented for isolating radioactive isotopes.
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French physicist Pierre Curie, and she shared the 1903 Nobel Prize in Physics with him and with the
physicist Henri Becquerel for their pioneering work developing the theory of "radioactivity"—a term
she coined.

Rt fofg, ST oRgll AT +ff sheT ST 2, 78 Ao Ford ot e <erehla qared 370 <fsrshid it H o aitard
EREICE]

g 3it it 3 T, 91 e gt g @ A R e & - e e i e 3 forg
o 570 ferft afeesm (1,060 feft wRe=TSe)

G 7 e SATEHIET o1 ST L o FoTT TSk o1 7T qehefiohi T START hleh TraTT-—rT TR feam
qcall shY WISt o ToTT TR foie 7 1911 37 Aeiet TRt Sl
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I8 T ol

Q6. The isotope used for the production of atomic energy is
TLHTY] Sl o ScdTE o fofT ST forelT ST aTeT ofmg@eT . ®
U-235
U-238
U-234
D. U-236
The isotope U-235 is important because under certain conditions it can readily be split, yielding a lot of

0w

energy. It is therefore said to be 'fissile' and we use the expression nuclear fission'.

The nucleus of the U-235 atom comprises 92 protons and 143 neutrons (92 + 143 = 235).

HTFHISIT U-235 HEca Ul & HTTh Fw Il o qed 360 ST FrTisTa fopam Sim e 2, Fores srga siferen
St 9TH Bt 21 3HfeTe 39 forgiertar et ST € S gn ] fore tfivsafch st Suai i €

U-235 TRATI] 3 TR & 92 T ST 143 =M (92 + 143 = 235) A &

Q7. If all bullets could not be removed from gunshot injury of a man, it may cause poisoning by

At Sk W T et el el Rt U SreHt o T T g S e €, 1 I8 EGUER]
T T &I Feha 2

A. Mercury /91T

B. Lead /S

C. Iron/d®

D. Arsenic / T8

A gunshot wound (GSW) is physical trauma caused by a projectile from a firearm.

Damage may include bleeding, broken bones, organ damage, infection of the wound, loss of the ability
to move part of the body and, in more severe cases, death.

Damage depends on the part of the body hit, the path the bullet follows through the body, and the type

and speed of the bullet.

Long-term complications can include lead poisoning and post-traumatic stress disorder (PTSD).

T Sigeh 6T T 61 T (STUHesey) Ueh 9 § W&l o 0T €1 T SR SATE &

effer © ToRaTa, 221 5 Tefeat, i afer, mvar o wsRHvT, TR 3 fowd o fedtr <t arwar st TeReT ST sife

i ATt § Heg et gt et 2
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THE TR o T o T ot fvit et 2, ST oo o 7Tt 31 o wrears § <ierd! €, ST et o S 37
Tfe T feft st 21
et erafdr it Sfeetaren & i formhar 3 il aama foeRR (PTSD) et &1 Tehd

Q8. Retina of the eye is comparable to which of the following parts of a traditional camera?
it o1 T e St 3 PR fee & qere 27

Film / foew

Lens /|

Shutter / 3T

Cover / sha{

O 0w

®  The human eye is more or less like a photographic camera.

®  The retina of the eye is comparable to Film.

®  The lens system of the eye forms an image of an object on a light-sensitive screen.
®  The eyeball is almost spherical in shape having a diameter of about 23 mm.

®  The eye lens is a transparent, biconvex structure in the eye that provides finer adjustment required
to focus objects on the retina.

" S 3T FHHISE U BTG o i avE 2

= i A AT e o e 2

" 3G T A o TRRI-HaeT Bhi T foret T e e )

= PRTICT TR H ST TeATHR Bl & foreht sard e 23 firedt g 2|

" AT 1 o G H e g, Iwateltt S @ S AT ot aeq e shi hisd s o fo sATevash sed
TSI & LT 2

Anatomy of a Normal Eye

Macula

Retina

Q9. The color of light is determined by its
ECON KU RE A NAE BIGRE RIS I
A. Amplitude/3TIH
B. Wavelength/alT g&f
C. Intensity/dtsidT
D. Velocity/aT

® Light interacts in three ways these are reflection, absorption and transmission.

" We see the transmitted light.
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®  White light is combined with seven colours such as VIBGYOR (violet, indigo, blue, green, yellow
orange, red).

" ORIRT A AL § TER TR AT @ A T, STaRIeOr 3 He)

" W U Yo dEd B

" T TRHT | T S fersriT (s, Sfe, e, &, diar A, ) o @ 6 8

Wavelength interval

Color Frequency interval

violet ~ 430 to 380 nm |~ 700 to 790 THz
blue ~ 500 to 430 nm ~ 600 to 700 THz
cyan

areen

yellow ~ 590 to 565 nm ~ 510 to 530 THz
orange

red

Q10. Laser is a device for producing

TSR IeaTe o ToTe weh Suehtor @
spontaneous radiation / & farfertor
dispersed radiation / %era farferor
scattered radiation / fsr@t gY farferor
D. stimulated radiation / 3qfSta farferzor

A laser is a device for producing simulated emissions of electro magnetic radiation.

0w >

Laser stands for light amplification by stimulated emission of (electromagnetic) radiation.

TR ferera <farehr forfertor o Tehelt et o IedTa o foTg Ueh STeRto 2
ot (ferere <prarehiar) Farfertor o ST Seasid ST WerreT S o foTe @et 2

Nd:YAG solid-state laser

Highly Partially
reflective reflective
mirror Flashlamp (pump source) mirror

Laser
output
ND:YAG crystal (laser medlum)

Optlcal resonator

Q11. Which is not a Lewis acid?
Eﬁﬁwaﬁr@@ﬁ%‘?
Barium chloride/s@m FAge (BaCl,)
B. Boron trichloride/aRi W (BCL)
C. Beryllium chloride/sftfeT FaRIEE (BeCl,)
D. Boron trifluoride /& ;‘I’s"?@'{ﬁg (BF5)

Lewis acid is any species that can accept a pair of electrons.

A Lewis base is a species that can donate a pair of electrons to an electron acceptor.
The bond formed in a Lewis acid/base reaction is called a coordinate covalent bond.
Cations are Lewis acids since they are able to accept electrons.
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T3 TS i5 ot Ml & ST S 1 shl T STIST bl Tl L Hehel| 2

TS S Toh U ST R S U e Seohdl BT Soidrgil shl Toh ST aT SRt EehelT 1
5 Ufbre/aT Sfafshan & S ATl e 1 Sy SesdiSe sed el STl 2l

YR Q59 3TV § 1o of iag1 ohl Tol1ohI T H WETH &)

Q12. Easily soluble in water-
it & ST & e 8-
A. Carbon/&Ts
B. Nitrogen/:fr{@ﬂ——f
C. Ammonia/3THIf==T
D. lodine/3TaEH
Ammonia gas is very soluble in water.
The relatively high solubility is attributed to the hydrogen bonding that takes place between the
ammonia and water molecules.
SR e Tt 8 g germRiie S )
Y& Ioel FOTRITeTd bl STHIRT ST AT o ST o Sl B ATel STEG IS sfe o o frHar 3gtrn
ST R

Ammonium
chloride "
slaked lime

Q13. Which of the following statement is incorrect?
e & & % 91 e Tad 22

N,O is laughing gas/ N,O ST 9 &
AgCl is horn silver/ AgCl H fieat 8

Hg is quick silver/ Hg &g Tidt g

D. ChCl, is Iodoform/ ChCl, 3TTSST I &

0w >

Iodoform is the organoiodine compound with the formula CHI3. A pale yellow, crystalline, volatile
substance, it has a penetrating and distinctive odor and, analogous to chloroform, sweetish taste. It is

occasionally used as a disinfectant.

SRS CHIz 8 o |1 AR e 31 Tk gt e, freecda, amefier gard, sos e iy 3
fafRre e Bt 2 37, FARIHH & T, HieT e BaT 81 39 FHi-Fuft FievMHTT & w9 § W R S
H

Q14. What is the formula of caustic potash?
HIfeeeh T T & &1 &

A. KOH

s C,H,OH
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C. C2H6

D. CH,
Potassium hydroxide, also known as lye is an inorganic compound with the chemical formula KOH.
Also commonly referred to as caustic potash, it is a potent base that is marketed in several forms

including pellets, flakes, and powders.

g EregeEse, R os o w0 7 oft ST AT 2, e 9 KOH % 61 U STk A1 2|
TR 9T 1Tk T o & § ot STHT ST 7, T Teh et SATaR & 8 a4, woied oK urset afed
3 & A forqur foram ST 21

15.The number of neutron in ,,Al*’ are-
Q 13

AL T RS T He -
A. 40
B. 27
C. 14
D. 13

Q16. What is the atomic number of sulpher?

HEHL hT THTO] AT T §
A. 15
B. 20
C. 17
D. 16

Atomic number = number of protons= 16

Mass number = number of protons + number of neutrons
So mass number of sulphur = 32

TRHTY A1 = T2 shl ST = 16

FEIHT T = W2 ohl AT + =T hl Hear

A FHL hl FoqHH HEAT = 32

Sulfur has an atomic weight of 32.06

" 4 rare isotopes 338, 34S, 35S and %S can be used for tracing. 0
[T ] 7
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+Actinide [P0 [T [% e A [es 6 [9v [9e (92 Jwo [wor Jiwe ez
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Series

0% me

Q17. German silver is a composition of

S foreat CARCRIECES
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Cu, Zn, N1
Cu, Zn

Cu, Al, Zn
Al, Mg, Cu

O 0w

Q18. Instrument for measuring rainfall is called

T HTT o SYHIT kT hET AT &
A. Hygrometer/%@ﬁﬁa
B. Galactometer / TITRIHIET
C. Lucimeter / aﬁmﬂa
D. Hyetometer/@—cﬁﬂcl?l

" Hyetometer - an instrument used to measure rainfall

® A rain gauge is an instrument used by meteorologists and hydrologists to gather and measure

the amount of liquid precipitation over an area in a predefined area, over a period of time.
®  Lucimeter is used to measure light intensity,
" Galactometer is used to measure the relative density of milk and

®  Hygrometer is used to measure level of water vapour in the atmosphere.

» FIEIHI - auT 919 o foTu geamTer foharm ST STt Sushor

=TI U U ST @ ForeshT ST W fersnfRt S St ot ST v i & i e
Y Srafer & aeet It it AT Rl hgT I ST ATI o forw fopa S R

" SRR 6T ST T AT o FoTT T BT STRNT foRat S 2,
= QY o QIUET e T HITH o foTQ Tetereiefiet shr SuaiT feharm Sirefm @
" TTERT H STl AT o ST sl AT o foTa SrguiHied ot 39 foram St 2

Q19. What type of flame is produced when the oxygen supply is sufficient?
AT i YT T2TH B T Fohe T T Tt 3ea 2t 82
A. Yellow flame/ dieft @Y
B. Blue flame/ it &t
C. Orange flame / it &
D. None of the above / 3T | & hIs A&l
A blue flame is produced when the oxygen supply is sufficient.
A blue gas flame indicates complete combustion.
Red, orange and green gas flames could be the sign of incomplete combustion.
With hydrocarbon flames, the amount of oxygen supplied with the gas determines the rate of

combustion.

SHATeRetS shT AL Tate B o et &t SeawT Bt 2

U il | <6t it gl g8 ol Hehd At 2l

AT, AT S T At 1 oY A 0T & b Hohd o1 Tl 3
BTSSIHIS TIULI o |, T8 o |1 SR hT ST STt SRS ol 71T 38 ahi &€ i et 2
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Outer zone of complete
combustion. (Blue in

Middle zone of colour, hottest zone)

partial combustion

(Moderately hot)
Innermost zone (least
hot)

Unburnt wax

Q20. What is the electronic configuration of calcium ion (Ca2+)

YT AT (Ca2 +) T TAFS ek (o= T ]

A 28

B. 28,2
C. 284
D. 2,88

The electron configuration for calcium atom (Z = 20 )

ST T o foTT seree fomrme (Z = 20)



